Unit 4: Variable Expressions Name:

Lesson 1: Combining Like Terms Hour: { A

Notes 4.1

Number Properties

Commutative X+Y = X+y
Changes the orde’ Xey = YeX
Associative (a+b§u+c - at(brc)

Changes the Groangs | (geb).c = o= (bec)

Why do we need to remember these properties for combining like terms?
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—6x 4 79+ x% — 2xy — 5x — 33 + 8x? — 4y, + 8xy — 10x

What are the “like” terms? . (oX -53( —— \0 7\ —‘ ’-7“ x\

S N R 4 o =9 9x

What does simplify mean? -Z‘ﬂ *-% K’ﬁ

k> y canbmg, all Lke dernis

Simplified:
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Simplify the Expression

1) 2 apples - 3bananas + 4 apples + 5 grapes +8¢+ ibanana= 3 apples

3app\pg + | bananas +5 Qrapes
2) =12%(—5) #6%— 12 +2
—bx —15
3) —1-8]+ [10] + |~12| <(5|-3])

8+ 1o -12 -5 = ~|

4) =25 + 3xy = ABC (—6x%)) Bxy + 3 — Bxy + 38K #¥— 4=+ 1027
%= ~13xy —lx Y tZ

5)[16x =3x — 9 £IE8x+ 24

Sx +15

7) 10a + b=5 — 4b + 6@=H3 — 14a

20 =3b -9

Adapted: What is the World’s Saddest Candy wkst. (#1-10 only)



